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FEB FERR2TEEREE
AXFEFR 59 8 50 50 100% 1
SEXEEH 89 16 71 68 96% 5

XHEFH |AHtsREH 46 5 39 37 95% 4
=T - REB(TENFEFR 27 13 11 85% 8
INEE 221 37 173 166 96% 18
e 18 5 13 11 85% 2
MEEF 23 14 8 7 88% 2

— A=y 22 16 6 6 100% 0
EYFER 28 18 9 8 89% 2
BHRFIFE 38 28 10 9 90% 1
INEE 129 81 46 41 89% 7
BMEREZH 38 24 14 14 100% 0

R )\Fﬁ-f%ﬁﬂ?ﬂ 29 6 23 23 100% 0
ANHEEFER 73 13 51 51 100% 9
INEE 140 43 88 88 100% 9
= 490 161 307 295 96% 34

KRERE ABXERIARZHARFHE L ATHARE (FRI19F4R18~) FER2IEEETE

Bt EEFER 56 24 24 20 83% 14
ABHERFER 34 21 18 86% 14
DIV EHEER 17 8 7 88% 2
SATHAIVRER 50 41 41 100% 1
BHEEY 62 5 57 57 100% 1

= 219 48 151 143 95% 32
KRERE ABXERIARZHARFHETREAZEE (FRI19F4R18~) FER2IEEETE
B EEFER 12 0 — 8 — 4
ABHERFER 3 0 - 0 — 3
TIVF—FERRER 2 0 — 1 — 1
SATHAIVRER 11 0 — 7 — 4
BHEEY 14 0 — 13 — 1
&t 42 0 — 29 — 13
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ABEX LBl R R T F Ba g 11 4 3 7
R 38 4 3 7
AX RS 62 12 8 20
HERIS 30 2 1 3
i 78 20 1 21

RFHAE 4 11 4 3 7
R 38 4 3 7
AX RS 221 62 12 8 20
HER 129 30 2 1 3
e 140 78 20 1 21
&3t 490 219 42 16 58




